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dHow to determme the hme Complexa‘fuk of an alqm i

L> look ©r the dominant ¥erm ~ what takes the most trmé
- Gererally, the dommant tevm wil be loopd

-Look for the most deeply nested & loops

O(1) — no leop3d

O (n) — o stand-alone loop

O (n?)—> Q nested 100pS

O(n®) = 3 nested looPs

O(log n) — fecursion (usual \‘ﬁ\' porallel processing

ANote that we Core most about the dominant +erm -
h ; munaNt n ey
that's why weonly reprt Yhe doms erm %\g—ov\.

4Tl Time Complexity
L> ncludey every loop+ lne of code 5 not jusk dOM““{l,r"e‘;m

Pogram 1= n =+ rf+ ¢ —> O
smg\e 1 e °\gférs of
lop g’ cosé(ron-loeps)

Pogramax n+ n + C —> o(n)
Chod one |
o report
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